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10 + 10 = 20
2 onGdec aro 10 = 20
2x10=20
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5+5+5+5+5=25
5 opGadec amro 5 =25
5x5=25
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5+5+5+5+5+5=30
6 opddec amd 5 = 30
6 x5=30
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6+6+6+6+6=30
5 opadeg amd 6 = 30
5%x6=30

© Copyright 2012, www.sparklebox.co.uk



=30
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2 ONadec atro 15
2%x15 =30
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T+7+7+7+7=35
5 opadec aro 7 = 35
5x7=35
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10+10+10+10 =40
4 x 10 =40

4 opadeg atmro 10
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20 + 20 =40
2 oMadec atro 20 = 40
2 x 20 =40
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5 opadeg atro 9
5x9=45
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15+ 15+ 15 =45
3 opGdec amrd 15 =45
3x15=45




10+10+10+ 10+ 10 =50
5 opadec amro 10 = 50
5%x10 =50
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25 + 25 =50
2 oMGdec atro 25 =50
2 x 25 =50




